
 

𝑘௉ௌ = 𝐽 =  න   𝜎 (𝜆)
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· Ф (𝜆) · 𝐽 (𝜆) 𝑑𝜆
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𝐸ଶ଴ଷ = 6,023 · 10ଶଷ 𝑓𝑜𝑡𝑜𝑖 · 𝑚𝑜𝑙ିଵ ·  6,626 · 10ିଷ଻ 𝑘𝐽 · 𝑠ିଵ ·
2,998 · 10଼ 𝑚 · 𝑠ିଵ

203 · 10ିଽ 𝑚
 

𝑬𝟐𝟎𝟑 ≈ 𝟓𝟗𝟎 𝒌𝑱 · 𝒎𝒐𝒍ି𝟏 > 494 𝒌𝑱 · 𝒎𝒐𝒍ି𝟏 

λ ≥

NO (g) + O3 (g)  NO2 (g) + O2 (g)   k (298 K) = 1,9 10-14 cm3 moléculas-1 s-1 

 𝐋𝐨𝐬𝐜𝐡𝐦𝐢𝐝𝐭 𝐳𝐞𝐧𝐛𝐚𝐤𝐢𝐚, 𝟏𝐚𝐭𝐦 𝐞𝐭𝐚 𝟐𝟗𝟖 𝐊,

= 6,023 · 10ଶଷ𝑚𝑜𝑙𝑒𝑘𝑢𝑙𝑎 · 𝑚𝑜𝑙ିଵ

·  
1 𝑎𝑡𝑚

0,082 𝑎𝑡𝑚 · 𝐿 · 𝑚𝑜𝑙ିଵ · 𝐾ିଵ · 298 𝐾ିଵ
 ·  

1 𝐿

10 𝑐𝑚ିଷ

= 𝟐, 𝟒𝟔 · 𝟏𝟎𝟏𝟗𝒎𝒐𝒍𝒆𝒌𝒖𝒍𝒂 · 𝒄𝒎ି𝟑

 

𝒕𝑵𝑶 =
ଵ

௞·[ைయ]
=  

ଵ

ଵ,ଽ·ଵ଴షభ  ௖௠య௠௢௟௘௞௨௟௔షభ·௦షభ·[ହ଴·ଵ଴షవ· ଶ,ସ଺·ଵ଴భవ௠௢௟௘௞௨௟௔·௖௠షయ] 
=

𝟒𝟐 𝒔. 

 



𝒕𝑶𝟑
=

ଵ

௞·[ேை]
=  

ଵ

ଵ,ଽ·ଵ଴షభర ௖௠య௠௢௟௘௞௨௟௔షభ·௦షభ·[ଵ଴·ଵ଴షవ· ଶ,ସ଺·ଵ଴భవ௠௢௟௘௞௨௟௔·௖௠షయ] 
=

𝟐𝟏𝟑, 𝟗𝟓 𝐬. 

 



5 · 10ିଵଷ ·  𝑒ି
యబబ

೅ = =  5 · 10ିଵଷ ·  𝑒ି
యబబ

మఴఴ =   𝟏, 𝟕𝟔 · 𝟏𝟎ି𝟏𝟑

 𝐋𝐨𝐬𝐜𝐡𝐦𝐢𝐝𝐭 𝐳𝐞𝐧𝐛𝐚𝐤𝐢𝐚, 𝟏𝐚𝐭𝐦 𝐞𝐭𝐚 𝟐𝟖𝟖 𝐊,

= 6,023 · 10ଶଷ𝑚𝑜𝑙𝑒𝑘𝑢𝑙𝑎 · 𝑚𝑜𝑙ିଵ

·  
1 𝑎𝑡𝑚

0,082 𝑎𝑡𝑚 · 𝐿 · 𝑚𝑜𝑙ିଵ · 𝐾ିଵ · 288 𝐾ିଵ
 ·  

1 𝐿

10 𝑐𝑚ିଷ

= 𝟐, 𝟓𝟓 · 𝟏𝟎𝟏𝟗𝒎𝒐𝒍𝒆𝒌𝒖𝒍𝒂 · 𝒄𝒎ି𝟑







𝒕𝑪𝑶
𝟏/𝟐

=
𝐿𝑛 2

𝑘 · [OH]
=  

1

1,76 · 10ିଵଷ 𝑐𝑚ଷ𝑚𝑜𝑙𝑒𝑘𝑢𝑙𝑎ିଵ · 𝑠ିଵ ·  7,65 · 10଺𝑚𝑜𝑙𝑒𝑘𝑢𝑙𝑎 · 𝑐𝑚ିଷ 
= 𝟓, 𝟏𝟓 · 𝟏𝟎𝟓 𝐬. 

[•OH] [•O(1D)]  [•Cl] 
k

−
ௗ[஼ுర]

ௗ௧
= 𝑘ଵ · [𝑂𝐻] · [𝐶𝐻ସ] +  𝑘ଶ · [𝑂(ଵ𝐷)] · [𝐶𝐻ସ] +  𝑘ଷ · [𝐶𝑙] · [𝐶𝐻ସ] = 



[𝒌𝟏 · [𝑶𝑯] +  𝒌𝟐 · [𝑶(𝟏𝑫)] +  𝒌𝟑 · [𝑪𝒍]] · [𝐶𝐻ସ]= 𝒌∗ · [𝐶𝐻ସ] 

𝒕
𝑪𝑯𝟒

𝟏
𝒆 =

1

𝑘∗
=  

1

[𝒌𝟏 · [𝑶𝑯] +  𝒌𝟐 · [𝑶(𝟏𝑫)] +  𝒌𝟑 · [𝑪𝒍]] 
= 

 
ଵ

଺,ହ·ଵ଴షభఱ  ௖௠య௠௢௟௘௞௨௟௔షభ·௦షభ· ହ·ଵ଴ఱ௠௢௟௘௞௨௟௔·௖௠షయାଵ,ହ·ଵ଴షభ  ௖௠య௠௢௟௘௞௨௟௔షభ·௦షభ ·ଵ·ଵ଴షమ௠௢௟௘௞௨௟௔·௖௠షయା ଵ·ଵ଴షభయ ௖௠య௠௢௟௘௞௨௟௔షభ·௦షభ ·ଵ·ଵ଴ర௠௢௟௘௞௨௟௔·௖௠షయ
=

  =    

=  
1

[3,25 + 0,0015 + 1] ·  10ିଽ 𝑠ିଵ 
=  0,235 · 10ଽ 𝑠 ≈ 𝟕, 𝟒𝟔 𝒖𝒓𝒕𝒆 

 

𝒌𝑶𝑯 

·  𝐞ି
𝐄𝐚
𝐑·𝐓  

ௗ[ை]

ௗ௧
 

J · 

𝐯𝑶𝟑
=

𝒅[𝑶𝟑]

𝒅𝒕
= 

J · 

ௗ[ைయ]

ௗ௧
= J ·  

𝐯𝑶𝟑
=

𝒅[𝑶𝟑]

𝒅𝒕
= 

 


